
M3x4

130912 M-T M-T

852-1435900 sh mode（JF51）/Dio110（JF58）

- 1
2
2

FUEL TANK CAP COVER
CODE : APPLICATION : 

●Thank you for purchasing Kitaco product. 
  Read and understand the instruction before installing.

ATTENTION (MUST READ)
●This product is designed and made exclusive for applica�on models, do not 
  use other models. Do not modify the way which is not listed or it will cause 
  damage and trouble.
●We are not responsible for viola�on of law or damages and accidents 
  caused by assembling mistake and improper se�ng.
●Please ask authorized mechanic for assembling and se�ng.
●Refer to the manufacturer service manual when installa�on.
●Bolts and nuts may get loosen by engine vibra�on. Make sure not to loosen 
  any bolts and nuts before driving.
●This instruc�on sheet is for the instruc�on for stock condi�on.
※Metal/resin/alumite products get discolored/rust for ages as well as how 
    to use. Please understand when using.

PACKING LIST
NAME QTY

FUEL TANK CAP COVER
HOLLOW SET M3x4
HOLLOW SET M3x5

ATTENTION
※Tighten screw 
    alternately evenly li�le 
    by li�le.
※Over �ghtening 
    (hollow set) may cause 
    of scratch tank cap and
    dent. Be careful of it.

TORQUE : 5N・m(0.5kgf・m)
Match M3x5 hollow set and dent 
part on genuine tank cap △ 
(triangle) mark.

DENT PART

3-8-13 NAGATA,HIGASHI-OSAKA,
OSAKA,JAPAN


